RO B (2) 7 (BEAM) (EEER CHOLRMHR)
RAFHEICEBRA RS AN ST

4

4| TH2SEERMILBEMRFEEEI

B R 5 o 4%

| REMASRAD 3HEHR

% B | BAFTR/EWNMSDIMN _
| Al B | TrRk2843A23RA(K)  FHI-FH 1185455
A R W
AW F % A KL & #E @) 1% =

L1 A [,500 Q00 - |
N S [, 495, 000 -
IR THIE [,520, 000 -
BB 1,450,000 . |[% AL
VEXRR r,446% , 000
7 L 1,430, 000

FRARIT1005 OBIHNS T BEEMAL 1= SEI A L0 AT HBMEH ThS,

B4 EH

AL EL, BEREDEELT- (AR ERE. BAT
T ALB NG E 4 B BRE N ENDRELE,




#REEO5(2) (55, HOL KL UE 74H%)

W ERHEE
AR BEERET ERTEHER
B L BE & 5l TR —-KXTHE TR
st 1,566,000 I | AFLEMH —fix 4 OMEEK BREL 2,355nf EX 1,161nf
(HEBIELEE 116,000 B} | oFiE F DAt ( ) [HEAE 250m 204X (PEA) HRF 13,894nt
= oo BIE 1,177 2074 (HEAR)
- (BB 4 4 ) MLEB| £ Rk 28 4€ 3 A 23 H
(A M) (EEZIRAE TS 1
(T E B M)
M
- (HEHAYSHE M) |EERIRALEERY 2 FEEROOBEAEOHEESFLEEL-HER
ZE2 _ -
(4 95E )
(HEBFI S M)
B |EERIEAITEEES 3
e (H B %] M)
RES | )
(MR BIARY % M)
F w® 1,649,160 | R RE4ER B JEFTHA R H =
fifi # |GHEBUEL%E 122,160 M) | , R B FHE28F4H48
N 58 PR % &4 A1 H = P93 A 31 A
(EFT) . o B ¥k £ A =
BAFETHRE12262 S - T = ¥k £ H B
N . B ¥R &£ A H
(34 ) BF2 | ¥k # A = ¥k &£ A @
AR - . B ¥ & H R
FTEI | T 5k &£ A w T & &
THELL BB EDR R x % B Fr

TrL28F B ARAT A B S HERF BB ERE

R R4S HIED 3R

RAFTRTERGED3HA




